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Answers
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18. 2
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20. 7

Use multiplication rules to determine the missing remainder for each problem.

1) 932÷10 = 93 r     2      2) 41÷2 = 20 r     1      

3) 763÷10 = 76 r     3      4) 711÷2 = 355 r     1      

5) 74÷2 = 37 r     0      6) 55÷5 = 11 r     0      

7) 59÷5 = 11 r     4      8) 95÷2 = 47 r     1      

9) 9,538÷2 = 4,769 r     0      10) 858÷10 = 85 r     8      

11) 7,408÷5 = 1,481 r     3      12) 766÷5 = 153 r     1      

13) 8,485÷5 = 1,697 r     0      14) 380÷10 = 38 r     0      

15) 73÷5 = 14 r     3      16) 2,547÷10 = 254 r     7      

17) 34÷10 = 3 r     4      18) 87÷5 = 17 r     2      

19) 5,259÷5 = 1,051 r     4      20) 27÷10 = 2 r     7      
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